
https://www.geekcert.com/1z0-1089-20.html
2024 Latest geekcert 1Z0-1089-20 PDF and VCE dumps Download

 

 

 

1Z0-1089-20Q&As

Oracle Cloud Infrastructure 2020 HPC and Big Data Solutions
Associate

Pass Oracle 1Z0-1089-20 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/1z0-1089-20.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

 

 

1Z0-1089-20 Study Guide | 1Z0-1089-20 Exam Questions | 1Z0-1089-20 Braindumps                                1 / 3

https://www.geekcert.com/1z0-1089-20.html
https://www.geekcert.com/1z0-1089-20.html
https://www.geekcert.com/1z0-1089-20.html


https://www.geekcert.com/1z0-1089-20.html
2024 Latest geekcert 1Z0-1089-20 PDF and VCE dumps Download

QUESTION 1

When running a high memory workload, what should be your machine of choice? 

A. BM.Standard.E2.64 

B. BM.Standard.E3.128 

C. BM.HPC2.36 

D. BM.GPU3.8 

Correct Answer: B 

 

QUESTION 2

A file system is built using BM.Standard2.52 Compute shape for File Servers. One 25 Gbps NIC/network card is used to
connect to 10 Block Volumes of 1TB each (max. 4#0MB/s per volume). The other 25 Gbps NIC is used for
sending/receiving data to/from client nodes. 

File system client instances which mount the file system are provisioned using VM.Standard2.16 Compute shapes.
(Network bandwidth: l6.4Gbps(2050 MB/s)) 

What is the max IO theoretical throughput a client node can get? 

A. 2050 MB/s 

B. 4800 MB/s 

C. 3125 MB/s 

D. 6250 MB/s 

Correct Answer: C 

 

QUESTION 3

You are building a file system that needs to handle large files with a lot of nodes reading at the same time. What should
be your main goal? 

A. Maximize Latency while keeping throughput above a certain threshold. 

B. Maximize throughput. 

C. Minimize latency. 

D. Minimize throughput while keeping the latency low. 

Correct Answer: B 
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QUESTION 4

On a RDMA cluster, a latency test was conducted, with these results: What should you do? 

A. Nothing, this behavior is normal. 

B. Latency Is not critical, check the bandwidth. 

C. Rerun the test and see If It Is consistent. 

D. Report the higher latency through a SR. 

Correct Answer: A 

 

QUESTION 5

Which benchmark is important to a customer when considering 0lg Data workloads on Oracle Cloud Infrastructure
(OCI)? 

A. TPC-DS 

B. TPC-DI 

C. TPC-C 

D. Terasort 

Correct Answer: B 
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